
Whats in the Gift J' ( )
What number is in each gift?

610 + 363 = 125 + 652 = 535 + 571 =

299 + 123 = 892 + 120 = 368 + 168 =

355 + 600 = 524 + 842 = 514 + 436 =

981 + 200 = 841 + 691 = 546 + 605 =

263 + 560 = 254 + 271 = 248 + 294 =

904 + = 1,886 871 + = 1,623 573 + = 842

498 + = 881 594 + = 988 615 + = 1,477

586 + = 1,020 299 + = 748 966 + = 1,358

775 + = 1,162 634 + = 1,604 490 + = 816

648 + = 1,138 230 + = 713 968 + = 1,895

+ 868 = 1,642 + 182 = 686 + 951 = 1,816

+ 713 = 1,594 + 973 = 1,791 + 793 = 943

+ 436 = 758 + 314 = 491 + 963 = 1,833

+ 253 = 811 + 358 = 1,000 + 267 = 497

+ 304 = 1,230 + 434 = 825 + 450 = 1,161

Merry Christmas from Math-Drills.com!



Whats in the Gift J  Answers' ( )
What number is in each gift?

610 + 363 = 973 125 + 652 = 777 535 + 571 = 1,106

299 + 123 = 422 892 + 120 = 1,012 368 + 168 = 536

355 + 600 = 955 524 + 842 = 1,366 514 + 436 = 950

981 + 200 = 1,181 841 + 691 = 1,532 546 + 605 = 1,151

263 + 560 = 823 254 + 271 = 525 248 + 294 = 542

904 + 982 = 1,886 871 + 752 = 1,623 573 + 269 = 842

498 + 383 = 881 594 + 394 = 988 615 + 862 = 1,477

586 + 434 = 1,020 299 + 449 = 748 966 + 392 = 1,358

775 + 387 = 1,162 634 + 970 = 1,604 490 + 326 = 816

648 + 490 = 1,138 230 + 483 = 713 968 + 927 = 1,895

774 + 868 = 1,642 504 + 182 = 686 865 + 951 = 1,816

881 + 713 = 1,594 818 + 973 = 1,791 150 + 793 = 943

322 + 436 = 758 177 + 314 = 491 870 + 963 = 1,833

558 + 253 = 811 642 + 358 = 1,000 230 + 267 = 497

926 + 304 = 1,230 391 + 434 = 825 711 + 450 = 1,161

Merry Christmas from Math-Drills.com!


